Matching
1. I

2. A

3. F

4. E

5. L

6. J

7. H

8. D

9. C

10. K

Multiple Choice

1. c
2. a

3. e (can skip b/c it deals with 
       rule of addition)

4. c

5. b

6. d (can skip)
7. c

8. d

9. b

10. c

11. b or d both work
12. a

13. d

14. d

15. c

16. b

Multiple Choice

1.E
2. A

3. B

4. D (can skip) 
6. E

7. B
9. A

11. D 

13. C

18. D

Pedigree:  a. Recessive
b.  father Aa, mother Aa

c. mate 1 AA (probably), mate 2 Aa, grandson 4 Aa

d.  NO

Pedigree (this is a bad problem because it could be an autosomal recessive or a sex-linked recessive.  Can’t tell from pedigree alone)


XtY


XTXt


XTXt


XTY


XTXt


XTX?


XTXt


C:  ½ (chance of being a carrier) X ¼ (chance that carrier female and normal male have affected child) = 1/8


Problem 2:  c-a-b-d


Problem 3:  25 MU


Problem 4:  (1/2 male fetuses abort so you will have twice as many girls as boys) 6 girls, 3 boys





Interactive Q 15.6


trisomy is 2n + 1, triploid is 3N (more deleterious probably











